[image: image1.png]@ prid-1o = Terai 10 - Gprid

——

@ 5(10\;—5’)'8 = Soy~aS 7Y% =QSOY\,~33

© 4lay+s) Ty = Sbyredry =@y
@ s5(sv-5)-5 = &5B-as =S <§§\5:‘3\5)

e

Q) 1o(zx-u)F 12 = Box Lo +12 = Bx 9B

@ 3(1132) -4 = 4 rdn -d =CAnr T
@ o(x-2)-5 = 9x-1%-% = Lx-Au)

@ lO(ISn%Ler'? = 50N+ o +7] é\@v\’\‘(_o,:l

W sbe ’7+q(5’°?><57@(><m ~7x 19

S 430 m 7 FIZ oKXk JKL]' S (@ + ><> - 10O
10 + 7% + 30@5 X)— 10O





[image: image2.png]{
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Homework — Review on the Distribution Property

Simplify the following using the Distribution Property. Must show work.

1) 7(3x-5)

3) 2x—9)+5x

5) 10(2x+6)-15

7) 93x—-5)+12x+5

9) 4(12x ~7y) + 12x - 30y

11) 153x-8)+17x-10

¥¥13) 5(3% +2y) + 4(6% —2y)

2) 8(2x +9y)

4) 6(5x +2y)—4y

6) 8(6x —5y)+ 10x

8) 11(x+5y)—4x +8y

10) 6(2x+y)—llx+y

12) 3(6x +2y) - 22x + 14y





